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& (BB E) 150,000
FitE (—RFH<) 500,000
TtEHEHE 2,000,000
R 3,000
NPO;& AKnotsdk Y ZF i 2,480,771 5,133,771
Y2& T RFA/\)L 500,000
TRV T ERRE 25,400,000
HCJE % 3,300,000
BKRBMEBE IR T/ 350,000 29,550,000
FRE L 3,380,000
HEEE 1,200,000
AVYITA Y | BERIRE 100,000 4,680,000
ZDMEZKTEY EIF 2,580,000 2,580,000
IRA&ET 41,943,771
[ZHi]
Y2&ITRAF AL 1,045,000
TRV 7ERRE 25,050,000
HCJE % 3,380,000
BRKEEMEBE I XT3 246,500
TOMEHREE 50,000 29,771,500
A 2,070,000
EZ2E 1,204,500
aAVHILT4Y . BEIRE 50,000
BMER 30,000 3,354,500
ZOMEXREE 1,660,000 1,660,000
ERELE 7,140,000 7,140,000
XHEE 41,926,000
LEAUNZT ERE 17,771
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